[image: image1.png]a) (5 points) create a 95% confidence interval to determine if there is a significant
difference between the two languages in terms of coding time. Draw conclusions.

b) (5 points) what does the plot tell you that the confidence interval does not?
(Notice that A and B are plot paired for each programmer, “2” means the
programmer takes the same time using A and B, for example, programmer 1)




[image: image2.png]¢) (10 points) suppose the programmers belong to three categories, junior, senior and
expert, which are associated with their efficiency in programming. Programmers 1, 4,
7, 14, and 16 belong to the junior group; programmers 3, 5, 6, and 9 belong to the
senior group, and others belong to the expert group. If we treat the experiment as a
nested-factorial experiment, give a graphical representation of the experiment. What’s
the mathematical model you will use? Given the model you are using, what are the
degrees of freedom associated with the error estimation?




